REVIEW

SCIENTIFIC

NOTATION




Scientific Notation is a format in which a number is expressed as a

number between 1 and 10 multiplied by a power of 10.

EX 1: Put each of these in scientific notation.

a) 3052 b) 0.08923

=30S2 %[0 =g RIS

c) 0.000032 < d) 1\9’&?)35 .
=32x\0 =1.948=2<*10

EX 2: Write in decimal notation.

a) 5.7x103 b) 7.55 x 10°
=0.0D <3 =3880000 =30 d0o
c) 8x 102 d) 0.3x 10*
= Qoo =3%|0°
= 022003

= 0.000pR



Multiply/Divide with scientific notation

Multiply or divide the number and deal with the powers of ten separately.

EX 3: Multiply or divide these.

a) (4 x 107):(3.5 x 102) {q 3%‘)( ID
+2

=l* 10 s Y% (O
=1.4%)|0°

b) (3.2x 105 +(2.1x102) = 32 Ylog 37— IO >
2.[¥19" o

=1523%09C2 x| O
Add/Subtract =].€23¢0952 xIO?
If powers match, add the numbers and keep the powers of ten.

If powers do not match, add or subtract in decimal notation.
EX 4: Add or subtract these.

a) (2.3x102)-(1.5x1022)

=(2345) 187 = 0.8 %15 = § x\ O
b) (3 x 108) + (5 x 10%)

= 30DOPO O + QOO

6
= 3,050,000 =30S%I0
\/\W



Scientific Notation
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EX 5: Use scientific notation for this computation. In the year 2006, the
population of the U.S. hit 300 million. The national debt was $8.6
trillion. What was the national debt per person that year?

SDO M't“lb‘v\
$3§:: ‘l"rl\\\\e\n . =3 pox|Qe on calculater-
milli ° = ¢
":-f{ P 3 X\0 32x ‘Dl.
- 8.xI0™ /% =3200000
3 x (03 UQSQ quc3 32E¢(

- \
_ ((o’ </f’“‘°" =R Y

$ 23630
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